3-/6d NAILS
ZACH SI0K

')

- PERSPECTIVE
CUTAWAY  SHOWING CONSTRUCTION

 GENSRAL NOTES:

' THIS SYRUCTURE IS DESIGNED FOR A SNOW LOAD OF 20 LBS, PER $Q. FT.

'AND WIND UP TO 76 MILES PER HOUR, FOR LOADS OF 30 LBS. PER SQ. FT.

DOUBLE THE LOWER CHQRD OF THE TRUSS, REDUCE SHED BAYS 10 10'-0", AND
DOUBLE BOLT THE TOP CHORD, = | o

| THE SILO MAY BE BUILT IN ANY LENGTH IN UNLTS OF 5 ¥EET, 1IF SHEDS
ARE DESIRED USE 15 FOOT UNITS, CAPACITY OF A 15 FOOT SECTION OF :

S1.o LOADID 10 FEET HIGH IS ABOUT 6 5 TONS, : _ '

_,
O o

USE COMMERCIAL
- ANCHORS OR STORM o
FASTENERS AS SHOWNL

IV DETA/L ON EVERY ™ L
OTHER RAFTER = X .

ALL POLES, SIDE BACKS AND T&G WALL SHEATHING SHOULD BX PRESSURE
TREATED WITH PRESERVATIVE TO & LBS PER CUBIC FOOT RETENTION.

FOR SELY FEEDING, WITH FREE ACCESS, A SILO WIDTH OF 3" 10 6" PER
HEAD 1S REQUIRED, AT LEAST A 4" SLICE SHOULD BE CONSUMED PER DAY TO
MINIMIZE SPOILAGE, | I | o

EQUIP SILO AND LEAN-TO WITH AN ADEQUAIE LIGHTNING PROTECTION
SYSTEM IN AREAS WHERE NEEDED, | o

MATRRIAL LIST FOR 13 FT, SEGTION 24 FY, WIDR

: CU, PI, CONCRBTB, FOR FLOOR v(‘j )
408 - :-8Q. PT..RRINFORCING WIRE MESH 6x6"x No, 10 -
t FOR LEAN-T0; g
2 : POLES, PRRSSURE TREATED 6" TOP 16' LONG : -
4 ¢ RAFTERS 2x12x16°* S sl28
11 : PURLINS 2x6x18' - - -3 198
: CORRUGATED ROOFING (10 COVER 272 SQ,PT.) :
3 + MACHINE BOLYS 3/4'" FOR RAFTERS ' $
16 : STANDARD WASHERS FOR BOLTS 3/4" ¥
28  : NAILS 10d FOR PHRLINS 3
2 3 NAILS 16d FOR STORM FASTENERS t
10 i STORM PASTENERS 2x6x1'-6" 1 13

~ COOPERATIVE EXTENSION WORK IN =
AGRICULTURE AND HOME ECONOMICS |
"'~ BTATE OF MISSISSIPFI
MISSISSIPPI STATE UNIVERGITY

AND .7
JUNITED STATES OEPARTMENTOFAGRICULTURECOOPERATING

- BUNKERSILO
TYPE £

|‘7Hi_

‘ORE.'58 '_ sz 5865 SHEET | oF 2

QUANTITY ¢ ITEM T M
A ' L
6 . i POLES, PRESSURE TREATED 6" TOP 25' LONG : .
"6 't UPPER CHORD 2x8x16' - - - ;139
"6 1 LOWER CHORD 2x6x12' 172
6 : TENSION STRUT 1x8x8' = 3033
6 : COMPRESSION STRUT 2x4x3'-6" 1 15
-6 3 KNEB BRACE 2x4x9' 136
3 ¢ COLLAR PLATB 1x8x2'-6" '+ 6
6 : SPLICB PLATE 1x6x3' : 9
6 t STRUT TIE 1x4x1'+6" o+ 3
6 t PLYWOOD GUSSET 2'x1/2"x2' - o 24
12 ; SIDE BACKS RIPPED FROM SIX 2x12x10* - - 240
3# 1 NAILS 84 FOR GUSSBTS ~ S
74 1 NAILS 10d YOR TRUSSES & PURLINS = .
364 3 MACHINE BOLTS 3/4" FOR TRUSSES AND POLES &
129 1 STANDARD WASHERS FOR BOLTS 3/4" - 3
24 : MACHINE BOLTS 1/2" FOR SIDE BACKS t
48 : STANDARD WASHERS FOR BOLTS 1/2" ',
18 - : NO. 14 GA GALV, WIRE TIES A' LONG I
18 - : PURLINS 2x6x16' - . s 288
3 CORRUGATED ROOFING (10 COVER 480 SQ, ¥T.): = -
1 : 15 FT. RIDGE SECTION FOR CORRUGATED ROOPING
-t SIDES 2x8 T4Q (TO COVER 300 5Q, ¥T.) ~ :
360 . : SQ. FT, REINFORCING WIRE MBSH 6"x6"x No. 10
.3 VOR LEAN-TO .. ' :
1 : POLE PRESSURE TREATED 6" TOP 16' LoNG ;.
2.t RAFTERS 2x12x16’ s 64
11 ¢ PURLINS 2x6x16' N ' R 2 Y
s CORRUGATED ROOFING (TO COVER 240 SQ, FT.): .
4 ¢ MACHINE BOLTS 3/4" FOR BAFTERS s :
. 8 . 3 STANDARD WASHERS FOR BOLTS 3/4" - i
20 : MAILS 10d FOR PURLINS o X3
1# 1 NAILS 16d FOR STORKM FASTRMRRS T
5 't STORM PASTENERS 2x6x1'6" : t 8
- MATERIAL LIST FOR 13 FT, END SECTION 24 BT, WIDB- = . |
©oQuANTITY : T T 1TEM S 1
. 8. . 1 POLES, PRESSURE TREATED 6" TOP 25' LONG '
-8 1 UPPER CHORD 2x8x16' | I ) ¥ B
3 .t LOWER CHORD 2x6x12' 1.9 .
-8 & TENSION STRUT 1x8x8' . B T R
. 8 ¢t COMPRESSION STRUT 2x4x3'-6" S 200
8 - i KNEE BRACR 2xAx9' - 1 48
4 't COLLAR PLATE 1x8x2'-6" ;8
8  : SPLICE. PLATB.1x6x3' T12
8 ¢ STRUT TIE 1x4x1'-6" 3. 4
- 8.t PLYWOOD GUSSET 2'x1/2"x2' s %2m
16 - : SIDE BACKS RIPPED FROM BIGHT 2x12x10'  : 320
40 3 NAILS 8d POR GUSSETS = . SRR A
104  : NAIL3 104 FOR TRUSSES & PURLINS -
48 ¢ MACHINE BOLTS 3/4" POR TRUSSES & POLES
96 ¢ STANDARD WASHERS FOR BOLTS 3/4" =~
32 ¢ MACHINE BOLTS 1/2" FOR SIDE BACKS g ‘
64 - 1 STANDARD WASHERS FOR BOLTS 1/2" - s -
24 : NO. 14 GA, GALV. WIRB TIES 4' LONG = ¢
18 - : PURLINS 2x6x18' R SRR B VL
| ¢+ CORRUGATED ROOPING (TO COVER 544 SQ, FT.): :
1'% 17 PR, RIDGE SECTION FOR CORRUGATED ROOFING ° - ™’



22" CORRUGATED METAL ROOFING

. 2%6 PURLINS NOT OVER 2°6"0.C.

50"

- GCROSS SECTION

LN
VIR

cor (;;g’pgg Ar roe f,%ﬁggf NLS A ; 34" MACHINE BOLTS, NUTS e PURLINS
ERECTION ___ 550 /Z/OJ)VA/I.S & ‘ ~ I ¢ WASHERS 2 Ly
At/ | o b2 EXTERIOR /- N DI N | f L
N T PLYWOOD GUSSER |~ . I |
| 2xitedie” YA MACHING BOLTS,NUTS § WASKERS( [ 7 4ug’ kWK emcﬁ\ | : =8
COMPRESSION STRUT, Q @24 04”4/43654 SV L ,
I 7 ) 2xeniz’lowER CHORD _ [ e e ] NG T\ 276712 LOWER CHORD '\ '\ p N—
1 ‘éo ad,v/:/ 5, | ‘ \/«ex spuc‘a(é‘Ac‘// 5/0&) = ANEE BRACE NOT } ! :
13104 NALLS 450" - FASTENED 70 LOWER CHOR POLE NOTCHED FoR UPPER 4 Lower) " |
| CHORD OF TRUSS e A
& | S 2rfn 9 KHEE BRACES —1F
N 24-0" ’
) » 34" MACHINE BOLT, NUT : , o (
| AND THO Y WASHERS BOTH ENDS S| 2+ PUYRLINS /620, 24
V34  MACHINE BOLTS,NUTS ¢ WASHERS ~ ﬁ H — | U=
) . o 2 -6 L ; xa;@ ‘ .
L, " e \ > » *‘ b B ‘h ) . .-
. > . ) . 11 s . N . . ) oL i .
~ sz/e RAFrERS %_ﬂ S
, ) » - N . § R 9 5 au
‘ (STORM FASTENER
: . ' CENTER 70 CENTER
| N i SEE DETAIL SHEET / or porEs |1
: 25 FT. PRESSURE - TREATED g S -
| POLE &"TOP DIAMETER —] | ,
. | Il . Hill
33 : SNO. 14 GALY. WIRE TIES ’ il
3 ' : | SECURED AROUND BOLTS —___HIH AL
| o _ T
3 1 1
. ;| X , - HHE
Y ; o . .2%8 T4G PRESSURE . b 1}
N ' ' : S TREATED TIMBERS i
| B ‘ | O | “ Ui ’
. ¥ LI
: | | Y2t 4% MACKHINE BoL; NUT; hil
/ AND TWO 1’2 WASHERS S~ | mi
L) — A' rd 1l ll
g Q'J - FH (/ Tt ||
N - Y2e8+10' 728 prESSURA )|
~ - |7REATED ,ﬂmems)” |”I f
S L il
| L MAKE FROM 2x)2% 10" < Nl
i ,/ PRESSURE TREATED TIMBERS | ~ lr. ™
. | | 7
W i
—thi
1 | | il
AL e T e e ot 4t et
B /9 - . : '
k20 CONCRETE SLAB 5 GAL, ; —t
R WATER PER BAG CEMENT ? SLOPING TROUGH —| GRA[LUN_Z L{ 1
E ‘ : - i . = o= _,,, » o X
‘_;—M‘f'/ ] PRV . S TN TR BN R M W 2% AL TS “r*“'-:r —:—L——vf— ERRLTIAT 1“‘"1‘“‘“3‘"“”““*‘ W“-}/é =N Y .7./2/”“ =
- o - <)

SECTION A-A

COOPERATIVE EXTENSION WORK IN
AGRICULTURE AND HOME ECONOMICS
STATE OF MISSISSIPPI
MISSISSIPPI STATE UNIVERSITY

AND
UNITEDSTATES DEPARTMENTOFAGRICULYURECOOPERATING .

BUNKER SILO

ORE.'58 | EX. 5865 SHEET20F2

SCALE: Y2'~ 10" UNLESS ‘oﬁ'Ha'_nvhsa NOTED.,

T




	5865-1-2
	5865-2-2

